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QUESTION 1

You have an AFF A400 cluster that is running ONTAP 9.7 software. You are asked to set up FlexCache for
NFS volumes.

In this scenario, which statement is correct when implementing FlexCache?

A. A capacity license is required.

B. A subscription license is required.

C. A site license is required.

D. No license is required.

Correct Answer: A

Reference: https://www.netapp.com/pdf.html?item=/media/7336-tr4743.pdf (27)

QUESTION 2

You must replace a FAS2750 switchless cluster with an AFF A220 switchless cluster for a customer. The customer
requires that you transfer the data from the FAS2750 cluster to the AFF A220.

In this scenario, which two methods would you use to migrate the customer\\'s data? (Choose two.)
A. Establish an SVM-DR relationship between the two clusters and activate the destination SVM.
B. Remove all of the HDD drives from the FAS cluster and install them into the AFF cluster.

C. Install SAS cables between the two clusters and use the vol move command.

D. Provide cluster switches and build a 4-node cluster, then use the vol move command.

Correct Answer: CD

QUESTION 3

You use the system health subsystem show command to troubleshoot your newly installed ONTAP cluster.
In this scenario, which two health outputs would this command show you? (Choose two.)

A. data switch cabling

B. cluster switch cabling

C. shelf connectivity

D. node CPU utilization
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Correct Answer: CD

Reference: https://www.doc-developpement-durable.org/file/Projets-informatiques/cours-and-
manuelsinformatiques/Netapp/Data%200NTAP%208.0%207-Mode%20System%20Administration%20Guide.pdf

QUESTION 4

Click the Exhibit button.

Supported cables for X1144A
Ethernet 10/40 Gbps (CU) Ethernet 10/40 Gbps [CU)
Mktg Part No Mfg Part No Images Lengthv End1 End 2 Description
[=] Copper Cables
XQSFP-45FP10G-CUSM 112-00603 - 5m QSFP+ AxSFP+ Cable,Cu,QSFP+/4xSFP+ 40GbE,
XQSFP-H40G-CUSM-R6 112-00605 = 5m QSFP+ QSFP+ Cable,Cu,QSFP+/QSFP+ 40GBE,!
X66100-5 112-00544 2 5m QSFP+ QSFP+ Cable,Cu40GbE,QSFP+/QSFP+,!
X66120-5 112-00546 4 5m QSFP+ 4xSFP+ Cable,Cu40GbE,QSFP+/4xSFP+,
X66120-3 112-00545 = 3m QSFP+ AxSFP+ Cable,Cu40GbE,QSFP+/4xSFP+,
X66100-3 112-00543 2 3m QSFP+ QSFP+ Cable Cu,40GbE,QSFP+/QSFP+,:
XQSFP-H40G-CU3M-R6 112-00604 - 3m QSFP+ QSFP+ Cable,Cu,QSFP+/QSFP+ 40GbE,:
XQSFP-45FP10G-CU3M 112-00602 = 3m QSFP+ AxSFP+ Cable,Cu,QSFP+/4xSFP+40GDbE,
 X66100-1 112-00542 5 im QSFP+ QSFP+ Cable,Cu40GbE,QSFP+/QSFP+,
XQSFP-H40G-CUTM-R6 112-00307 - im QSFP+ QSFP+ Cable,Cu,QSFP+/QSFP+ 40GBE,

A customer has two Cisco 40GbE data switches. They want to connect the switches to an AFF A400 HA pair. The
switches and the AFF A400 are approximately seven meters apart.

Referring to the exhibit, which two supported actions would allow you to accomplish this task? (Choose two.)
A. Relocate the switches or the AFF A400 so that the distance is less than five meters.

B. Install 10 meter NetApp supported copper cables.

C. Change the requirement for Ethernet cables.

D. Change the requirement for optical cables.

Correct Answer: BC

QUESTION 5
Click the Exhibit button.
Mar 18, 2020 07:35:35 CDT HA Group Notification (CLUSTER NETWORE DEGRADED) ALERT

Mar 19, 2020 22:04:20 CDT HA Group Notification (Health Monitor process cshm:
SwitchIfInErrorsWarn Alert [NODE NAME-swl (SWITCH SERIAL NUMBER)/Ethernetl/8]) ALERT

Mar 12, 2020 20:58:38 CDT HA Group Notification (Health Monitor process cshm:
SwitchIfInErrorsWarn Alert [NODE NAME-swl (SWITCH SERIAL NUMBER)/Ethernetl/8]) ALERT

Your ONTAP cluster shows the cluster network errors that are shown in the event log. What is used by ONTAP software
to log the errors that are shown in the exhibit?
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A. SNMP

B. AutoSupport
C.BGP
D. EMS

Correct Answer: D
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